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Exercise 1. Multiple Choice (maximum points: 15)
Points: …….. / 15
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Exercise 2 (maximum points: 15)
PTPT = …………….. (1 pt);  
ATWP = …………….. (1 pt);  
PTWP = …………….. (2 pt);  

PTC = …………….. (2 pt);   
 SPI = …………….. (3 pt);    
ETC = …………….. (2 pt);    

ETPT = …………….. (2 pt);    
 estimated time slip = …………….. (2 pt);    
Exercise 3 (maximum points: 20)

PTPT = …………….. (1 pt);  
ACWP = …………….. (1 pt);  
BAC = …………….. (1 pt);

BCWS = …………….. (2 pt);  
BCWP = …………….. (2 pt);    

SPI = …………….. (2 pt);    
CPI = …………….. (2 pt);    

BCC = …………….. (2 pt);   
ECC = …………….. (2 pt);   
FCC = …………….. (2 pt);  

ETPT = …………….. (2 pt);     
estimated time slip = …………….. (1 pt);    
Exercise 1: Multiple Choice (only one answer is correct)
	1. 
	A …….. schedule variance with …….. cost variance suggests a project running late with an overspend.
a) negative; zero
b) negative; positive
c) negative; negative
d) zero; positive

	2. 
	The elements of the project triangle are:
a) Quality of the project product, time and costs.

b) Cost, resources and time.

c) Project product specifications, control and planning.

d) Planning controlling and quality.

	3. 
	Reducing activity durations by …. is the process when successor activities are started before their predecessors ended.
a) overlapping activities
b) increased risk
c) paralleled activities
d) the transference of resources

	4. 
	Appointment of the project manager and the project management team takes place in the … phase of the project life cycle.
a) Termination

b) Definition

c) Implementation

d) Development

	5. 
	Planning a project, the first document that should be developed from the list below is the …
a) WBS (work breakdown structure)
b) SOW (statement of work)
c) network diagram
d) responsibility matrix

	6. 
	There are 3 competing project proposals. Their expected profits are: A = 100, B = 150, C = 200. What is the opportunity cost of choosing proposal ‘C’?
a) 100               b) 150                  c) 200                    d) 250

	7. 
	Which one of the following is a disadvantage of the project-matrix structure:
a) Slow response to changes

b) It is hard to ensure the common understanding of the importance of projects
c) Definition of responsibility and authority is not clear

d) Over-specialisation

	8. 
	The utilisation in repetitive activities is the best in organisations with ….

a) true project structure

b) matrix structure

c) hierarchical functional structure

d) divisional structure


	9. 
	To permit effective tactical decision making strategy should be:

a) implicit
b) complicated

c) capable of being monitored 

d) focused on operations

	10. 
	The effective … contains introduction and background, technical description, timeline and milestones, as well as client expectations.
a) Gozinto chart
b) work breakdown structure

c) project network technique

d) statement of work

	11. 
	Project milestones are sometimes called …
a) project deliverables

b) deadlines

c) work packages

d) project phases

	12. 
	The ‘d’ activity in the picture on the right is…

a) a hammock activity 

b) a dangling activity

c) a looping activity

d) a dummy activity
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	13. 
	… is a systematic examination of the methods of carrying out activities to increase the effectiveness and efficiency of the whole work system. The questioning method is a frequently used technique from this approach.
a) work study

b) PNTs

c) controlling

d) Balanced Scorecard

	14. 
	The ability of an item to perform a required function under given conditions for a given time interval.

a) Durability.

b) Reliability
c) Validity.

d) Quality.

	15. 
	Which one is least possible to be managed like a project?

a) Baking the daily quantity of bread in a bakery. 

b) Organizing a wedding for a wedding organizer company, with fix-priced contract

c) Trying to win the lottery.

d) Writing a book by a professional writer, according to a detailed (topic, deadline, cost, pages) contract.


Calculation & plotting exercises (in the mid-term there will be 2 exercises) (max. points: 35)
Exercise 2 (15 pts)
There is a project with 4 non-overlapping work packages with durations 1, 2, 4 and 6 days. After 4 days the first work package is totally completed, and 50% of the second and 25% of the third work package is also done. The last one is not started yet. Based on the first 4 days’ data calculate the PTPT, the ATWP, the SPI, the PTWP, the PTC, the ETC, the ETPT, and the expected time slip.
Exercise 3 (20 pts)
There is a project with the following planned data:
	Activity 
label
	Duration 
(day)
	Daily cost of the activity

	a

	2

	10


	b

	1

	20


	c

	4

	20


	d

	3

	30


	e

	2

	10
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After 5 days, the monitoring system provides the following information:

· Activity ‘a’ is completed

· Activity ‘b’ is completed

· Activity ‘c’ is 50% completed

· Activity ‘d’ and ’e’ are 0% completed (not even started)

· Money spent: 100
a) Calculate BCWS, BCWP and ACWP for the first 5 days

b) Calculate PTPT; BAC, CPI, SPI, BCC, ECC, FCC, ETPT, and the estimated time slip.
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